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INSTRUCTIONS: 
Attempt all the questions

Questions.1										(8 Marks)
There are several categories of large investors in Indian capital markets, some of whom are institutional investors and the rest are non-institutional UHNIs/HNIs. In common parlance, large non-institutional investors are those who invest large corpus of funds in the securities market either because they are investment companies or other bodies corporate such as trusts, societies or HUFs which have large investible funds. The distinguishing feature of institutional investors from other large investors is their stature. Usually, institutional investors are financial institutions that have an important role in the financial markets such as banks, institutions and mutual funds. Through light on the various categories of large investors in the Indian capital market.


Questions.2										(8 Marks) 

Leverage buyout is the acquisition of one company by another, typically with borrowed funds. Usually, the acquired company’s assets are used as collateral for the loans of the acquiring company. The loans are paid back from the acquired company’s cash flow. Another possible form of leveraged buyout occurs when investors borrow from banks, using their own assets as collateral to acquire the other company. Typically, public stockholders receive an amount in excess of the current market value for their shares. Elaborate the different type of leverage buyout.







Questions.3	Prepare the restructuring plan 			                   		(8 Marks)

[image: ] 

Questions.4										(8 Marks)
A joint venture is a business enterprise under-taken by two or more persons or organizations to share the expense and profit of a particular business project. Eg. Maruthi Suzuki, ING Vishya, Bajaj Allianz, Standard & Charted Bank. A Joint venture is a legal entity formed between two or more parties to under-take economic activity together. The parties agree to create a new entity by both contributing equity, and they then share in the revenues, expenses, and control of the enterprise. Elaborate some of the reasons for the failure of joint venture. 
[bookmark: _GoBack]
Questions.5										(8 Marks)
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Examine the underwriters’ devolvement.
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Since the company is not performing well and losses are mounting. The management and lenders worked on
revival plan and proposed financial restructuring with following changes

L. Equity Share value will be reduced to 75/- per share fully paid up from current 100/-

2. Preferential Shares value will be reduced to 75/- from current 100/-

3.10% Non Convertible debentures will be now 6% i reduction by 4% in coupon rate

4. Long term lenders wil be Issued equity shares of Rs. 75/- per share for 30% of the outstanding loans amount
5. Accumulated unpaid interest on long term borrowings and debentures will be waived off by lenders

6. Creditors will waive off 25% of outstanding.

7. Assets will be valued at current market realizable value as under : Land & Building at 1310 cr, Plant &
Machinery at 450 cr, Furniture at 40 g, Office Equipment at 15, Inventory at 200 g, receivable at 320 ¢,

8. Cost of ssue of debentures & preliminary expenses at zero
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ABC Ltd. makes an issue of 10,000 shares of 210 each at par aggregating to ¥1,00,000. The issue has been
‘underwritten fully by four underwriters P, Q, R and S extent of 220,000, 330,000, 35,000 and ¥15,000
respetively. The issue has been closed and the following s the information available on the subseriptions.

Amount
Valid subscriptions received 76,500
Received through underwriter P - 11,700
Received through underwriter Q - 22400
Received through underwriter R - 8,300
Received through underwriter S - 22,600

Direct subscriptions received 11,500




